
Toy Totals

Color the toys to show each problem.  

Sten has 2 green cars. He gets 1 more green car. 
How many green cars does Sten have now?

Manu has 8 blue cars. 
He gives Sten 3 of them. 
How many blue cars does Manu have now?

Klara has 4 stuffed kittens. 
She also has 3 stuffed bears. 
How many stuffed animals does Klara have in all?

Sten has         green cars in all.

Manu has         blue cars now.

Klara has         

Sten has 8 stuffed bears. 
6 of them are brown. 
How many bears are not brown?

Sten has         bears that are not brown.

stuffed animals in all.


